Maytag PAV2000AWA 03 - CONTROL PANEL

Item

1

Maytag Residential Maytag PAV2000AWA Washer P

Original Part Number

25-7702

21001487
257793
35-2669
35-2668
25-7697
25-7851

25-7852

25-7435
31001057
31001056
25-7760

25-3092

25-7702

‘

Click on the part number to view part

Replaced By Status
Not Available
Not Available
21001453
25-2219
33002917
Not Available
Not Available
90767

arts Parts Diagram 03 - CONTROL PANEL

Part Description

Speedclip, End Cap To Control
Panel

PANEL, CONTROL (ALM)
Screw

CAP, END (LT)(WHT)

Cap- End

Screw

Speedclip, End Cap To Top

Speedclip, Rr Shid To End
Cap

Screw, No.10-16

TRIM, ENDCAP (LT)(ALM)
TRIM, ENDCAP (RT)(ALM)
Screw

Screw, 8A X 3/8 HeX Washer
Head Tapping

Speedclip, End Cap To Control
Panel


http://www.pwslaundry.com/c-503932-residential-maytag-pav2000awa-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10409621-maytag-25-7702-washer-dryer-speedclip-end-cap-to-control-panel.html
http://www.pwslaundry.com/i-10402000-maytag-25-7793-washer-screw.html
http://www.pwslaundry.com/i-10415018-maytag-21001453-washer-dryer-cap-end.html
http://www.pwslaundry.com/i-10410033-maytag-25-2219-washer-dryer-screw.html
http://www.pwslaundry.com/i-10409622-maytag-25-7851-washer-dryer-speedclip-end-cap-to-top.html
http://www.pwslaundry.com/i-10409623-maytag-25-7852-washer-dryer-speedclip-rr-shld-to-end-cap.html
http://www.pwslaundry.com/i-10409711-maytag-33002917-washer-dryer-screw-no-10-16.html
http://www.pwslaundry.com/i-10409624-maytag-25-7760-washer-dryer-screw.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10409621-maytag-25-7702-washer-dryer-speedclip-end-cap-to-control-panel.html

11
12
13
14
15
16

17

19
20
21
22

31001128
53-2504

31001193

35-2688
25-7853

25-3092

25-3457

21001325

31001029
21001240
21001241
21001140

21001242

21001226

25-3092

35-3691

25-3092

21001116
21001419
21001417

12002417

Not Available
31001193

21001460
25-7933

90767

3400094

Not Available
12500058
21001898

90767
21001554
90767

74008765
Not Available
Not Available

SHIELD, CONTROL
Pad, Shield

Pad, Shield

Shield, Rear

Ring, Retaining

Screw, 8A X 3/8 HeX Washer
Head Tapping

Screw, Sems

Timer

Screw, 10-32 X 3/8

BEZEL & RING ASSY. (ALM)
Knob Ski

Switch, Speed

Knob, Selector

Switch, Water Temp. 4
Position

Screw, 8A X 3/8 HeX Washer
Head Tapping

Switch, Water Level

Screw, 8A X 3/8 HeX Washer
Head Tapping

Switch, Rocker

MANUAL, LAUNDERING TIPS
MANUAL, USE & CARE

Wire Kit


http://www.pwslaundry.com/i-10409690-maytag-31001193-washer-dryer-pad-shield.html
http://www.pwslaundry.com/i-10409690-maytag-31001193-washer-dryer-pad-shield.html
http://www.pwslaundry.com/i-10410031-maytag-21001460-washer-dryer-shield-rear.html
http://www.pwslaundry.com/i-10402060-maytag-25-7933-washer-ring-retaining.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10409626-maytag-25-3457-washer-dryer-screw-sems.html
http://www.pwslaundry.com/i-10401263-maytag-21001325-washer-timer.html
http://www.pwslaundry.com/i-10415254-maytag-3400094-washer-dryer-screw-10-32-x-3-8.html
http://www.pwslaundry.com/i-10407336-maytag-12500058-washer-knob-ski.html
http://www.pwslaundry.com/i-10403468-maytag-21001898-washer-switch-speed.html
http://www.pwslaundry.com/i-10403103-maytag-21001242-washer-knob-selector.html
http://www.pwslaundry.com/i-10402324-maytag-21001226-washer-switch-water-temp-4-position.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10402262-maytag-21001554-washer-switch-water-level.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10407275-maytag-74008765-washer-switch-rocker.html
http://www.pwslaundry.com/i-10410025-maytag-12002417-washer-dryer-wire-kit.html

	Maytag PAV2000AWA 03 - CONTROL PANEL

